MAP 4175 /5177 Name:
Quiz 8 — Take Home Date: November 1, 2017 — Due on November 2, 2017

Show all work for full credit, and use correct notation. Simplify answers completely.

1. Given a triple decrement model with u,(cl) = 0.1, u,(cz) = 0.2, and [.t,(cs) = 0.3
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2. For a double decrement model where each decrement is uniformly distributed in the
double decrement table, given g, '™ = 0.20 and q'(z) = 0.40, determine pr(z).
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3. For a double decrement model, you are given: 1o onﬁ

<
(i) in the associated single decrement model, decrement 1 is uniformly distributed = ?

with a terminal age of 100 /a
(ii) decrement 2 has a constant force of departure equal to 0.02 =7 R P ) _ é aan
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. For a double decrement model, you are given:

s 1
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(ii) 50% of decrement 2 occurs at time t = 0.2, and the rest occurs at time ¢t = 0.8

Gii) ¢¥ =03

Determine q;(z).
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5. For atriple decrement model, you are given:

(i) q,(cl) = 0.1 and decrements 1 is uniformly distributed in the associated single
decrement table

(ii) q,(cz) = 0.2 and decrements 2 is uniformly distributed in the associated single
decrement table

/
(iii) q(s) = 0.3 and decrement 3 is a beginning of year decrement == %: (_ Z' (3) 3
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